INSTRUCTION SHEET

TB430C, TB430CFB, TB430CRAIL

0.55" - 1

1/2" ADJUSTABLE OCTAGON BOX CENTER PLATE

TB CENTER SPAN BETWEEN 12 GAUGE | ADJUSTMENT
SENT 8 BRACKET | 5P/ BTN UL514A LOAD RATING PAGE  |TB430CRAIL| TBTG | )2 SAUGE | ADJUSTME
10 LBS IN-WALL
PAGE 1 NONE | NONE | NONE
TBYTAHD OR | 010 soan FIXTURE/LUMINAIRE
TB1624HD
50 LﬁiTOU\R/E/RLTJ%E‘ﬁE'E“NG PAGE 2 NONE | NONE NONE
TB430C OR EXTOREILUMIMARE:  |PAGES283[  (2) NONE | NONE | 055 -11/2"
TB430CFB(RED) | 151 404np | OVER 17" - 25" ' DEPTH
SPAN vV
50 LE&%RE'EFUEQE\&ER'E'NG PAGES 2 & 3 2) NONE NONE
TBI14HD OR | on oen 50 LBS T-GRID CEILING
TB1624HD | 7 ~25"SPAN FIXTURE/LUMINAIRE PAGES3&4| NONE (2) (1)
AS SHIPPED

BOX VOLUME;

33.5 CU. IN. MIN. at fully extracted position -

45.5 CU. IN. MAX. at fully extended posiﬁon_\

(2) BOX DEPTH ADJUSTMENT SCREWS;
Work screws back and forth to adjust
and avoid overtightening which can
cause screws to strip

-—
ADJUSTABLE FROM

0.55"-11/2" DEPTH
—"Secure free end of

ground wire to

device/fixture ground
tferminal’
L FM4;
SOLD SEPARATELY
9" - 17" SPAN |@.i@@;é;§%. oFmT ol iess —! 13?;3?5;}?
UL514A IN-WALL ?. T T |9 o
FIXTURE/LUMINAIRE “| ° % SEPARATELY
<
APPLICATION A —T8430C T
| / OR o ™ >—
o | < ) (2) #8 SELF-DRILLING
(4) #8 SELF-DRILLING ) TB430CFB Bl SCREWS
//i‘l
SCREWS (2 PER STUD 3 2, (1 TOP; 1 BOTTOM
AS SHOWN) % . £\ o) g AS SHOWN)
§ p —/1° o
Q L — J —— == = A
%‘%ﬂ?{: ) @ \[ogﬁoi@ oI o EeTE ) 1
—0] T E—— = = @: |
NING:

Y

n\7ént

WAR
1. nVent products shall be installed and used only as indicated in nVent product instruction sheets and training materials. Instruction sheets are available at
www.nVent.com and from your nVent customer service representative.

nVent products must never be used for a purpose other than the purpose for which they were designed or in a manner that exceeds specified load ratings.
All instructions must be completely followed to ensure proper and safe installation and performance.

Improper installation, misuse, misapplication or other failure to completely follow nVent's instructions and warnings may cause product malfunction, property
damage, serious bodlily injury and/or death, and void your warranty.

Products that are manufactured using spring steel components shall be used only in a non-corrosive indoor environment.

AJIthpipe supports, hangers, intermediate components and structural attachments must ONLY be used as described herein and are NEVER to be used for any
other purpose.

oo AON

NOTE: All load ratings are for static conditions and do not account for dynamic loading such as wind, water or seismic loads, unless otherwise noted.

The customer is responsible for:

a. Conformance to all governing codes.

b. The integrity of structures to which the products are attached, including their capability of safely accepting the loads imposed, as evaluated by a qualified
engineer.

c. Using appropriate industry standard hardware as noted above.

SAFETY INSTRUCTIONS:
All governing codes and regulations and those required by the job site must be observed.
Always use appropriate safety equipment such as eye protection, hard hat, and gloves as appropriate to the application.

) Y
nVent, nVent CADDY, nVent ERICO Cadweld, nVent ERICO Critec, nVent ERICO, nVent ERIFLEX, and nVent LENTON are _\/ ]
owned by nVent or its global affiliates. All other trademarks are the property of their respective owners. nVent reserves the N~
right to change specifications without prior noftice. n\/en't & [
TECHNICAL SUPPORT: e &
www.nVent.com 89231127_A 1 OF 4 © 2023 nVent All Rights Reserved CADDY



INSTRUCTION SHEET

9" - 17" SPAN,UL514A OVERHEAD CEILING FIXTURE/LUMINAIRE APPLICATION
&

IN-WALL & OVERHEAD CEILING BOX

| FM4; SOLD SEPARATELY
SUPPORT (9" - 25" SPAN)
— 914D OR
% g TB1624HD;
i L SOLD
g g SEPARATELY
3 =4
(2) #8 SELF-DRILLING —— | _IP(2) #8 SELF-DRILLING
SCREWS Yo O SCREWS
(1 PER STUD AS SHOWN) e 2| (1 TOP; 1 BOTTOM
> E | AS SHOWN)
9 :
AT —— =t
NG 2 Errn T oEﬁ»tojﬁ@toEn |
—0] (- —— == == jg : I

OVER 17" - 25" SPAN, IN-WALL & OVERHEAD CEILING UL514A FIXTURE/LUMINAIRE APPLICATIONS

ASSEMBLE TWO TB430CRAIL PARTS ONTO TB1624HD BY USING FOUR #8 SELF-DRILLING SCREWS

SET AT 24" SPAN
AS SHOWN

TB430CRAIL;
SOLD SEPARATELY

"OUTSIDE" MARK
AS SHOWN

"OUTSIDE" MARK
AS SHOWN

FLUSH

ST —=sz—/—=== o ¢ = [ 7
#8 SELF- €8T oG - =2 22T 2 (e #8 SELF-
DRILLING DRILLING

TB430CRAIL;
SOLD SEPARATELY

"INSIDE" MARK "INSIDE" MARK

AS SHOWN AS SHOWN TB430CRAIL

#8 SELF-
DRILLING
SCREW #8 SELF-
DRILLING
TB1624HD 81 624HD><_/ SCREW

TB430CRAIL TB430CRAIL

TB1624HD
TB1624HD
ASSEMBLY SIDE VIEW
nVent, nVent CADDY, nVent ERICO Cadweld, nVent ERICO Critec, nVent ERICO, nVent ERIFLEX, and nVent LENTON are
v/ owned by nVent or its global affiliates. All other trademarks are the property of their respective owners. nVent reserves the
- right to change specifications without prior noftice.
S TECHNICAL SUPPORT:
n ent www.nVent.com 89231127_A 20F 4

© 2023 nVent All Rights Reserved



INSTRUCTION SHEET
@ FINAL ASSEMBLY FOR UL5T4A IN-WALL FIXTURE/LIMINAIRE APPLICATION

(4) #8 SELF-DRILLING
SCREWS
(2 PER STUD AS SHOWN)

(2) #8 SELF-DRILLING
SCREWS

(1 TOP; 1 BOTTOM
AS SHOWN)

° @Aaav:@ei

@ FINAL ASSEMBLY FOR UL514A OVERHEAD
CEILING FIXTURE/LIMINAIRE APPLICATION

aHreyieL
) —

/@\,
L

(2) #8 SELF-DRILLING
SCREWS
(1 PER STUD AS SHOWN) |

[\
AN
;

OR
TB430CFB

(1 TOP; 1 BOTTOM
AS SHOWN)

arial @ @ iqavo

;
=
I

9" - 25" SPAN, T-GRID CEILING UL514A FIXTURE/LUMINAIRE APPLICATION

&
I-GRID CEILING BOX SUPPORT (9" - 25" SPAN

@ASSEMBLE TWO TBTG PARTS ON TB1624HD OR TB914HD BY USING TWO #8 SELF-DRILLING SCREWS

#8 SELF DRILLING SCREW #8 SELF DRILLING SCREW

TBTG;

SOLD SEPARATELY
SOLD SEPARATELY

TB914HD OR TB1624HD;
SOLD SEPARATELY

nVent, nVent CADDY, nVent ERICO Cadweld, nVent ERICO Critec, nVent ERICO, nVent ERIFLEX, and nVent LENTON are
v/ owned by nVent or its global affiliates. All other trademarks are the property of their respective owners. nVent reserves the
right to change specifications without prior noftice.

\/ S .t TECHNICAL SUPPORT:
nven www.nVent.com 89231127_A 30F4 ©2023 nVent Al Rights Reserved




INSTRUCTION SHEET

@ ASSEMBLE TB430C OR TB430CFB ONTO TB1624HD OR TB?14HD BY USING TWO #8 SELF-DRILLING SCREWS

Y

nvent

e

Ly 3
Ql S—— ‘%@
I

Z\
/ Ad
TB430C
OR
6 f TB430CFB
SCREWS
_¢_ (1 TOP; 1 BOTTOM
AS SHOWN)

INSTALL 12 GAUGE DROP WIRE;
OPTIONAL FOR BOX SUPPORT

U
nVent, nVent CADDY, nVent ERICO Cadweld, nVent ERICO Critec, nVent ERICO, nVent ERIFLEX, and nVent LENTON are _‘,
owned by nVent or its global affiliates. All other trademarks are the property of their respective owners. nVent reserves the N~
right to change specifications without prior noftice. n\/en't o 19
a) :".

TECHNICAL SUPPORT:
www.nVent.com 89231127_A 40F4 © 2023 nVent All Rights Reserved CADDY




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3

	Sheet2
	Drawing View4
	Detail View A (2 : 3.2)
	Detail View B (1 : 2)
	Detail View C (1 : 2.1)
	Detail View D (2 : 3.2)
	Detail View E (2 : 3.2)
	Drawing View18
	Drawing View27

	Sheet3
	Drawing View19
	Drawing View20
	Detail View F (1 : 3)
	Detail View G (1 : 2.5)
	Drawing View28

	Sheet4
	Drawing View24
	Drawing View25
	Detail View H (1 : 2)


